Homework #1 / Due:
NOTE: some conversions in this homework may require you to look up  conversion factors in the textbook
1. Please correctly determine the number of significant figures for each number shown:

	
	# of signif fig.
	
	# of signif fig.
	
	# of sign. figures

	350
	
	
	
	
	2.0385
	
	
	
	1.20x103
	
	
	

	.000235
	
	
	
	
	3.082x104
	
	
	
	5.02x104
	
	
	

	100.00
	
	
	
	
	1200
	
	
	
	6x107
	
	
	

	300.2
	
	
	
	
	1200.
	
	
	
	1.025x10-6
	
	
	

	1.05x10-6
	
	
	
	
	320.25
	
	
	
	
	
	
	


2. Perform the following calculations, pay attention to the correct accuracy/precision of the result: 

	
	Final result with correct # of sig fig

	 (2.8x10–3)*(2.00x106)=
	

	3.5x103+2x104=
	

	 (2.8x103)/(2.00x10–6)= 
	

	 3.0x10–2 +2x10–3= 
	

	 (5.0x103)*(2.22x10–6)= 
	


3. If your body temperature is 37.5 oC, what would be the temperature in Kelvin? 

4. A patient lost 2.5 pints of blood. How many liters is it? Use the following conversion:
1.0fluid ounce  = 29.6 ml 

5. In a health magazine you red that for a person 193 cm tall the “healthy weight” would be 91kg.  Can you express both the height and weight in usual US units (ft & in; lb, respectively). 

6. You found that 1.50 ml of a liquid has mass of 2.750g. What is the density of the unknown liquid?

7. Average body density is 1.060 g.ml-1. If a person’s weight is 77kg, what is the volume of his/her body in liters? 

8. When you catch a cold and get fever, the energy for the initial increase of body temperature is provided mainly by “burning” glucose. Normal body temperature is 36.8 oC.  When your body temperature rises to 38.5 oC (fever) how much glucose would have to be “burned” to supply energy for this process?  The specific heat of human body is 840 cal.K-1.kg-1. The mass of the body is 72kg and 1 gram of glucose can provide 4,000 cal of energy?

9. Perform the following conversion (show – very briefly – how you got your result). Use the following conversion factor where necessary: 1kg = 2.2lb:

1m
= ________ m

1.25mV
= ________ V

1g
= ________ mg

1.2 lb
= ________ g

0.10L
= ________ cm3
1dm3
= ________ mL

10. Convert the following numbers from normal mode to scientific notation (or vice versa, as applicable)

0.000014
= _______________

23865
= _______________

2.385*104
= _______________

3.829*10-2
= ____________
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